CUSTOM WHEEL STAND SPEC SHEET by WolfgangK

PROFILE VIEW

Wheel Tray Brackets(2) - 7" (w) x 1.5"(h) @ @
® © Wheel Tray - 20.5" (w) x 17" (l)
® O]
o) ©
Back End Brace - 4" (w) x 24" (I)
Side Panel(2) - 20" (w) X 24" (h)
® O]
® O]
® O]
Pedal Tray - 20.5" (w) x 17"(1)
Pedal Tray Brackets(2) - 7" (w) x 1.5"(h) — @ @
@ @ @ Internal Brackets(2) - 16" (w) x 2" (h)
/ | \ |
External Brackets(2) - 10.5" (w) x 4”(h) Base Panel - 22" (w) x 26" ()

TOP VIEW COMPONENTS

1- Base Panel (3/4” MDF)

2 - Side Panels (I used 3/4" plywood)

2 - Internal Brackets (3/4” MDF)

2 - External Brackets (3/4” MDF)
1-Wheel Tray (3/4” plywood)

1 - Pedal Tray (3/4" plywood)

2 - Wheel Tray Bracket (1 1/2"x 3/4" cedar)
- 2 - Pedal Tray Bracket (1 1/2"x 3/4" cedar)
1 - Back End Brace (3/4" plywood)

1 - Pedal/Heel Piece (3/4" plywood)

Front Brace

- Pedal Tray -
4 -3/8" x 24" threaded bar

4-3/8"x2 1/2"Hex Bolts (sides to internal brackets)
Internal Bracket 4 - 3/8"x 3" Hex Bolts (external brackets to internal)
8 -3/8" Hex Nuts

2-1/4"x 2" Carraige Bolts (for pedal assembly)

2 - 1/4"Wingnuts (for pedal assembly)
2" Drywall/Multipurpose Screws (for assembling

external brackets to base, and small brackets to trays)
- Wheel Tray -

——— External Bracket

——— Side Panel

Base Panel J




EXTERNAL BRACKET JIG CUSTOM WHEEL STAND SPEC SHEET ﬁj




WHEEL AND PEDAL BRACKET JIGS CUSTOM WHEEL STAND SPEC SHEET ﬁj

Pedal Tray Bracket Jig

© O ©

Wheel Tray Bracket Jig

© © ©




SIDE PANEL JIG (TILE 1) CUSTOM WHEEL STAND SPEC SHEET ﬁj




SIDE PANEL JIG (TILE 2) CUSTOM WHEEL STAND SPEC SHEET ﬁj

OBNOBNORNO
OBNOBNORNO




SIDE PANEL JIG (TILE 3) CUSTOM WHEEL STAND SPEC SHEET ﬁj

OBNORBNORNO




SIDE PANEL JIG (TILE 4) CUSTOM WHEEL STAND SPEC SHEET ﬁj

OBNOBNORNO




